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N = O & 2 & Al
20118 S =Z 2 3 LESH TAIDHZ L ~ TAIDHZ
S AIDHE 2t
S ADHE A
IS A el dH
SA-EFH - SA(SAH) - MREAY - BES &hoh I8N HusZ
2t 15,074,546 9,079,546 5,995,000
= 300,000 300,000 0
= 7,626,000 7,626,000 0
< 20,000 20,000 0
Al 7,128,546 1,133,546 5,995,000
AN ALS 12,175,948 6,479,968 5,695,980
= 6,040,000 6,040,000 0
= 20,000 20,000 0
Al 6,115,948 419,968 5,695,980
AN 12,068,036 6,372,056 5,695,980
= 6,000,000 6,000,000 0
Al 6,068,036 372,056 5,695,980
AFIIH A 5,436 4,456 980
201 et 1,980 1,000 980
01 AtR2teld] 980 0 980
08 2g8+E 980 0 980
DEFEA L IHEA BYXSG X
2 2382 f3z= 70,0003 721 %23 980 0 980
FFXADIEHE JIHEA = JYE2 L 12,000,000 6,015,000 5,985,000
= 6,000,000 6,000,000 0
6,000,000 15,000 5,985,000
401 Al HI LS HH 12,000,000 6,015,000 5,985,000
6,000,000 6,000,000 0
6,000,000 15,000 5,985,000
01 Al£Hl 11,985,000 5,700,000 6,285,000
OJIZEAl = Zd=Z N4 (L=2.8Km, B=20~30m,
IC-1IH &) 2 & 11,985,000,000& 11,985,000 5,700,000 6,285,000
& 6,000,000 5,700,000 300,000
Al 5,985,000 0 5,985,000
02 2feldl 0 300,000 A300,000
OJIHEAl = Y2 NS AL 2ieltl
23 0& 0 300,000 300,000
= 300,000 A300,000
HFFIEEA He=SZH2E 0 290,000 A290,000
401 AlEHIZ R0 0 290,000 290,000
01 Al£HI 0 290,000 290,000
O FXADIEH JIP A H-S2Xeld &
A& 23 03 0 290,000 290,000
Hegs(ZANL D) 817,417 517,417 300,000
LHEHHXI = 800,000 500,000 300,000
SSENMNTE U=satE 300,000 0 300,000
404 SI|GN2HES 300,000 0 300,000
01 BIIHEEINHAN=NES 300,000 0 300,000
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SN H - SR(EH) - NPAMY - BES 0fl &t o o173 o HRE2
OSZNLANLELIH(}=HLZSHEH 24
H) 853 300,000,000 * 14! 300,000 0 300,000
HEY 2L ZHI(SAIIHZ D) 80,659 81,639 A 980
(2 (SAHZ) 45,425 46,405 A 980
JI2ZHI (S AR D) 45,425 46,405 A980
201 =&l 22,715 23,695 A 980
01 AtS 22/t 20,512 21,492 A 980
O1 L= 17,152 18,132 2980
DMEAFH AREH(EH ¥ 243)
2% 8,626,000 8,626 9,606 A 980




